
ШКАФ ХОЛОДИЛЬНЫЙ HURAKAN HKN-BCS160 

1 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



ШКАФ ХОЛОДИЛЬНЫЙ HURAKAN HKN-BCS160 

2 
 

 

Поз Наименование детали 

1 THERMOSTAT INST PLATE 

2 AIR GUIDE SHEET 

3 EVAP FITTING CLAMP 

4 INSTALLATION PLATE 

5 OUTER DRAIN PAN 

6 UP SHELF 

7 DOWN SHELF 

8 THERMOSTAT BOX 

9 THERMOSTAT COVER 

10 SWITCH INST PLATE 

11 GASKET 

12 FOAMING CABINET  ASM 

13 FOAMING DOOR SUBA 

14 INNER DRAIN PAN ASM 

15 BOLT M6X16 S 

16 BOLT M6X25 

17 HEXAGON NUT M4 S 

18 HEXAGON NUT M6 

19 SCREW M4X10 

20 CROSS RECESSED PAN HEAD SCREW M4X10 

21 SCREW ST4X16 

22 SCREW ST4X16 

23 SCREW ST4 2X12 

24 LARGE WASHER D6 

25 PLAIN WASHER D4 

26 PLAIN WASHER D6 

27 SPRING WASHER D6 

28 STRIP 5 HOLE 

29 K CLIP 

30 UPPER HINGE ASM 

31 BOTTOM HINGE ASM 

32 UNIDIRECTIONAL CASTOR 1IN 

33 ADJUSTED FOOT M8X55 

34 TG15A LOCK 

35 LOCK BOLT P 55 

36 FILTER BASE D19 

37 BC161 SENSOR CLIP 

38 BUSH 6 16 

39 SHAP RING 

40 HC 05OK FAN MOTOR 

41 RAM8038B1 FAN MOTOR 

42 LENGJI GROMMET SLEEVE D11XH18 

43 LENGJI RUBBER GROMMET D25XH17 

44 OVERLOAD PROTECTOR CLAMP AQAW91 

45 COMPRESSOR ASM 2 AS35 

46 PTC STARTER LJTX 520F 

47 OVERLOAD PROTECTOR B42 120G 

48 RELAY COVER AS35 

49 RELAY COVER CLAMP AS35 

50 CONDENSER 

51 EVAPORATOR 

52 FILTER D19X100 

53 FIXED BLOCK OF CONTR PANEL 

 


